SCH4U1

Equilibrium Constant Calculations

1.  Calculating K

Given:
N2 (g)      +      3 H2 (g)
  ⇌         2 NH3 (g)


At equilibrium:

[N2] 
=  0.30 M






[ H2[
=  0.10 M






[NH3]  = 0.20 M
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Solution:
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Answer:   K = 1.3 x 102

{Note: no units necessary}

2.  Calculating Concentrations at Equilibrium
Methane gas reacts with water vapour to produce carbon monoxide gas and hydrogen gas according to this equation:


CH4 (g)      +       H2O (g)
⇌
CO (g)      +     3 H2 (g)

At equilibrium:
[CO]  = 0.300 M




[H2]  = 0.800 M




[CH4]  = 0.400 M

If K  =  5.67, calculate the concentration of water vapour.
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Solution:
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Answer:  [H2O] = 0.0677 M
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Homework: 




Complete the worksheet: Equilibrium Exercise I and 2
� EMBED Equation.3  ���





� EMBED Equation.3  ���
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